TEEH

g TRIEE : 3EERLTEECPENTIHE) T=3cm “m 1.00m?
THRIEH BaliE Ba | w2 | BE | 88 | KM
SEERTE m? 1.00 720 720
BOME m? 1.00 50 50
TEE S B K )P ENN T m? 1.00 240 240
1: 37J<,Jﬁwaf< m?3 0.03] 3500 105
i m? 1.00 250 250
§EIﬂ(ztﬂﬁﬁ7ﬂaﬁ) = 1.00 5 5
m° B B &t: 1370 T
TRRaH
g . TRIER : 5ERRLTECOPEMTIE) T=6cm B8fi7 . 1.00m?
THRIEH BaliE EHIEEE BEE E:
SEERTE m? 1.00 620 620
BOME m? 1.00 60 60
FEE = EEK )R E AN T m? 1.00 240 240
1: 34CRWEE m?> 0.03| 3500 105
WRITE m? 1.00 250 250
S TRETERER) = 1.00 5 5
m’° B & &t 1280 7o
TRRaM
g . TRIER: SERRLECOPEMTIE) T=6cm BEfi7 . 1.00m?
THRIER Bz Ba | w2 | BE | 88 | KM
SR m? 1.00 620 620
BOME m? 1.00 60 60
HEE S B K J)3h EE NN T m? 1.00 240 240
ST D m?> 0.04| 1250 50
WRIE m? 1.00 120 150
2 TRETERER) = 1.00 10 10
m’ B B &t: 1130 7T
TRRaE
g TRIER . 5ERRTECOPENMTIE) T=8cm “m 1.00m?
THIER Bl Ba | e | BE | @8 | K
SEERTE m? 1.00 630 680
BOME m? 1.00 70 70
& = B K T3 EE AN T m? 1.00 240 240
TR m?> 0.04| 1250 50
WRIE m? 1.00 120 150
SETH(ZUERER) = 1.00 10 10
m°- B B 3 1200 7T

1010

920

920

990



